Strategic approach for the Amortized Loans

Chap 6
Present VdAue vs. Future Vdue
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Loan = 1000 r=12% 20 30 30
20
20
PM T=110,108 110,108" 240 = 26,425,920
30
PMT=102,861 102,861 360 = 37,592520
30 20 37,592,520 - 26,425,920 =11166,600 ?
PMT Period Discount rate
30 20 10 102861 120 1.00% 10 PV= $7,169,134
0 PMT 20 VT
AP;:Q% 20 7247 240 1.00% 20 FV=" $7,169,465 $332
10
1 30 PMT Discount rate
$7,169,134
% Dimm: o 0 7247 240 1.20% 20 V=" $9,971564 $2,802,096
PMT Z%PR=12% 7247 240 1.40% $14,041,621 $6,872,156
7247 240 1.60% $19,989,289 $12,819,823
7247 240 1.80% $28,728,199 $21,558,728
7247 240 2.00% $41,629,933 $34,460,468,
2 30 PMT 20 Discount rate
Answer PMT




PMT



